RESOLUTION RE: AWARD OF CONTRACT FOR THE 2021 SUSSEX COUNTY ROAD RESURFACING PROGRAM FOR THE COUNTY OF SUSSEX, DEPARTMENT OF ENGINEERING AND PLANNING TO RIVERVIEW PAVING INC., IN THE AMOUNT OF \$10,773,923.57

WHEREAS, public bids were advertised for the 2021 Sussex County Road Resurfacing Program on July 1, 2021 and received by the Sussex County Bid Proposal Committee on July 20, 2021; and

WHEREAS, the bids received have been reviewed by the Department of Engineering and Planning and the Purchasing Agent; and

WHEREAS, it has been recommended by the Department of Engineering that an award be made to the lowest responsible bidder, Riverview Paving Inc., with all work performed under the Contract based on the services and the rates specified in the proposal; and

WHEREAS, the Contract award is contingent upon the County receiving written concurrence from NJDOT after their review of the project bid documents; and

WHEREAS, the bidder has agreed to extend all bid prices to the date declared in their bid proposal to other municipalities and governmental entities of Sussex County; and

WHEREAS, the County Treasurer has certified that there are sufficient funds in the County budget for said Contract.

NOW, THEREFORE, BE IT RESOLVED that upon recommendation of the Department of Engineering, the Sussex County Board of County Commissioners does hereby award a Contract for the 2021 Sussex County Road Resurfacing Program for the County of Sussex, Department of Engineering to the lowest responsible bidder, Riverview Paving Inc., based on the services and the rates as proposed and specified in the proposal tendered on July 20, 2021; and

BE IT FURTHER RESOLVED the Director of County Commissioners, Clerk to the Board and their respective authorized designee(s) are hereby authorized and directed to execute a Contract and any related documents; and

BE IT FURTHER RESOLVED that this Contract will be in effect from date of Contract award until completion and acceptance according to the terms and requirements contained in the bid specification documents; and

BE IT FURTHER RESOLVED by the Sussex County Board of County Commissioners that the County Engineer, or his designee, in an effort to maintain the rideability and long term durability of all newly resurfaced County Routes, shall issue no Road Opening Permits that would cut or otherwise disturb the pavement or degrade the pavement integrity on any section of roadway resurfaced as part of this Contract for a period of three (3) years from the date of resurfacing of the roadway, except as necessary to protect the public's health and safety or to prevent damage to public or private property; and

BE IT FURTHER RESOLVED that a certified copy of this Resolution be forwarded to Riverview Paving Inc., 859 Willow Grove Street, Hackettstown, NJ 07840; and three (3) certified copies of this Resolution be forwarded to Michelle Mezger, Engineering and Planning for delivery to NJDOT Bureau of Local Aid – District 1, 1st Floor, Mount Arlington, NJ 07856.

Certified as a true copy of a Resolution adopted by the Board of County Commissioners on the 11th day of August, 2021.

Teresa Tyons, Clerk

Board of County Commission érs

County of Sussex

		RECO	RD OF V	OTF		
COMMISSIONER	AYE	NAY	ABST	ABS	MOVE	SEC
Carney	V			7,120	1110 12	OLC.
Fantasia	7					
Fasano						<u>.</u>
Petillo	V					
Yardley	V				/-	<u>r</u>
ABST - Abstain				ARC	<u> </u>	

MOVE - Resolution Moved

ABS - Absent SEC - Resolution Seconded

Resolution Summary Capital Project/Asset Bid Award

RESOLUTION RE: AWARD OF CONTRACT FOR THE 2021 SUSSEX COUNTY ROAD RESURFACING PROGRAM FOR THE COUNTY OF SUSSEX, DEPARTMENT OF ENGINEERING AND PLANNING TO RIVERVIEW PAVING INC., IN THE AMOUNT OF \$10,773,923.57

Description of project awarded or asset purchased including need for same:

This project advances the 2021 Sussex County Road Resurfacing Program. The 2021 program includes milling and construction of a new asphalt wearing surface on approximately 34.36 miles of county road segments.

Age/condition of asset to be replaced: (where applicable)

The target roads were last resurfaced between 1996-2007 and have provided between 14 and 25 years of wearing surface service life.

Bid advertisement date – NJ Herald and SC Web Posting date: 07/01/2021

of bids packages picked up:

26

of bids received:

7

Table comparing overall and unit pricing of bids submitted:

Bid summary table is attached.

Project estimate: (including source of estimate)

The project estimate is \$10,773,923.57 based on the Engineer's Estimate.

Discussion of variance of low bid either +10% or -10% from project estimate:

The Division of Engineering has reviewed the low bid in comparison to the Engineer's Estimate. The low bid, In the amount of \$10,773,923.57 subceeds the Engineer's Estimate of \$11,045,829.35 by \$271,905.78 and represents a 2.46% decrease below the Engineer's Estimate.

A review of the individual bid items indicates that this decrease below the Engineer's Estimate is driven primarily by two items: Item 12 – HMA Milling, 3" or Less and Item 15 – Hot Mix Asphalt 9.5 M 64 Surface Course. As the unit price provided in the low bid for these two items do not appear inconsistent with currently available unit pricing on other contracts or the unit prices provided by other bidders and both of these items could be influenced by fluctuations due to fuel or asphalt price changes, this deviation from the Engineer's estimate is acceptable.

COUNTY OF SUSSEX

Clerk to the Board of County Commissioners Sussex County Administrative Center One Spring Street Newton, NJ 07860 Tel: 973.579.0240 Fax: 973.383.1124



Teri Lyons, Clerk of the Board Email: tlyons@sussex.nj.us

Suzannah Givone, Clerk Pro Tem Email: sgivone@sussex.nj.us

August 12, 2021

Riverview Paving Inc. 859 Willow Grove Street Hackettstown, NJ 07840

RESOLUTION RE:

AWARD OF CONTRACT FOR THE 2021 SUSSEX COUNTY ROAD RESURFACING PROGRAM FOR THE COUNTY OF SUSSEX, DEPARTMENT OF ENGINEERING AND PLANNING TO RIVERVIEW PAVING INC., IN THE AMOUNT OF \$10,773,923.57

Dear Sir/Madam:

The above-captioned Resolution was adopted by the Sussex County Board of County Commissioners at its meeting held on August 11, 2021.

Enclosed you will find a certified copy of the Resolution for your files. If I can be of further assistance, please do not hesitate to contact me.

Sincerely,

Clerk Pro Tem

Sussex County Commissioner Board

Encl.

Cc: Michelle Mezger

		PROPOSAL FOI 2021 SUSSEX COUNTY	R ROADW RESURFA	AY ITEM CING PI	IS ROGRAM		
Seq. No.	Item No.	Description	Contract Quantity	Unit	Unit Price	Total Amount	CONTR CODE(S)
		ROADWAY ITEMS – ES	TIMATED I	BASE CON	TRACT		
1	151006M	PERFORMANCE BOND AND PAYMENT BOND	ı	DL	\$102,000.00	4102,000.00	A
2	153003P	PROGRESS SCHEDULE	1	LS	\$1,500.00	H1,500.00	A
3	154003P	MOBILIZATION	1	LS	\$250,000.00	\$250,000.00	A
4	159009M	TRAFFIC CONE	300	UNIT	A1.00	\$300.00	Α
5	159012M	CONSTRUCTION SIGNS	228	SF	村10.00	142,280.00	A
6	159030P	PORTABLE VARIABLE MESSAGE SIGN	4	UNIT	\$2,500.00	\$10,000.00	A
7	159126M	TRAFFIC STRIPES, LATEX 4"	715308	LF	#0.18	\$128,755.44	В
8	159141M	TRAFFIC DIRECTOR, FLAGGER	2400	HOUR	\$76.73	#184,152.00	A
9	159SC1M	TRAFFIC DIRECTOR, FLAGGER - OT	1200	HOUR	\$115.10	\$138,120.00	A
10	160004M	FUEL PRICE ADJUSTMENT	115700	DL	\$1.00	\$115,700.00	A
11	160007M	ASPHALT PRICE ADJUSTMENT	249200	DL	\$1.00	#249,200.00	A
12	401009M	HMA MILLING, 3" OR LESS	678747	SY	\$3.75	\$2,545,301.25	A
13	401027M	POLYMERIZED JOINT ADHESIVE	235971	LF	\$0.38	¥89,6L8.98	A
14	401030M	TACK COAT	41125	GAL	#0.01	#411.25	A
15	401042M	HOT MIX ASPHALT 9.5 M 64 SURFACE COURSE	106533	TON	\$60.00	\$6,391,980.00	A

Seq. No.	Item No.	Description	Contract Quantity	Unit	Unit Price	Total Amount	CONTR CODE(S)
16	401SC1M	SAWING AND SEALING JOINTS IN HMA OVERLAY	190	LF	# 5.00	\$950.00	A
17	602SC1M	PRECAST ROOF SLAB	Î	UNIT	#3,500.00	#3,500.00	A
18	701030P	3" RIGID NONMETALLIC CONDUIT	550	LF	#40.00	\$22,000.00	A
19	515SC1M	ASPHALTIC BRIDGE JOINT SYSTEM	52	LF	#275.00	\$14,300.00	A
20	560SC1M	MEMBRANE WATERPROOFING	1550	SY	#30.00	#46,500.00	A
21	610003M	TRAFFIC STRIPES, 4"	715108	LF	\$0.30	\$214,532.40	В
22	610007M	TRAFFIC STRIPES, 8"	1755	LF	#0.65	#1,140.75	В
23	610009M	TRAFFIC MARKINGS, THERMOPLASTIC	15098	SF	#4.00	\$60,392.00	В
24	609SC1M	BEAM GUIDE RAIL REFLECTORS	416	UNIT	\$10.00	44,160.00	B
25	108SC1M	HMA MILLING, 3" OR LESS, NIGHT WORK UP-CHARGE	236400	SY	#0.10	\$23,640.00	A
26	108SC2M	HOT MIX ASPHALT 9.5 M 64 SURFACE COURSE, NIGHT WORK UP-CHARGE	37050	TON	[#] 0.50	\$18,525.00	A
27	606012P	CONCRETE SIDEWALK, 4" THICK	531	SY	#87.00	446,197.00	C
28	606028P	RESET BRICK PAVER SIDEWALK	27	SY	\$150.00	\$4,050.00	C
29	606039P	HOT MIX ASPHALT DRIVEWAY, 6" THICK	71	SY	#150.00	\$10,650.00	A
30	606051P	CONCRETE DRIVEWAY, 6" THICK	3	SY	# 100.00	#300.00	C

Seq	Item No.	Description	Contract Quantity	Unit	Unit Price	Total Amount	CONTR CODE(S)
No. 31	606083P	DETECTABLE WARNING SURFACE	54.7	SY	\$275.00	\$15,042.50	C
32	607021P	9" X 18" CONCRETE VERTICAL CURB	1147	LF	\$40.00	\$45,880.00	C
33	607030P	12" X 13" CONCRETE SLOPING CURB	65	LF	#65.00	#4,225.00	C
34	607076P	BELGIAN BLOCK CURB	20	LF	#60.00	\$1,200.00	C
35	701SC1P	RESET EXISTING JUNCTION BOX CASTING	3	UNIT	\$50.00	#150.00	C
36	804000P	TOPSOILING, 5" THICK	225	SY	\$8.00	#1,800.00	
37	804015P	BORROW SOIL	43	CY	\$40.00	\$1,120.00	C
38	806006P	FERTILIZING AND SEEDING, TYPE A-	225	SY	\$ 8.00	\$1,800.00	C
39	809003M	STRAW MULCHING	225	SY	\$8.00	\$1,800.00	C
40	702048M	LOOP DETECTOR	800	LF	\$2.00	\$1,600.00	D
41	610SCIM	HFST REMOVAL	1	LS	\$18,500.00	\$18,500.00	B

NOTE: THE COUNTY WILL DETERMINE THE LOW BIDDER BASED UPON THE TOTAL BID FOR "ROADWAY ITEMS — ESTIMATED BASE CONTRACT." THE ACTUAL AWARDED CONTRACT QUANTITIES WILL BE DETERMIND BY THE COUNTY AT THE TIME OF AWARD BASED ON THE UNIT PRICES INCLUDED IN THE BID AND THE AVAILABILITY OF FUNDS. UNIT PRICING FOR SUSSEX COUNTY MUNICIPALITIES AND AGENCIES WILL NOT BE UTILIZED FOR CONSIDERATION OF THE LOW BIDDER.

- 1 - 발생생명(1984년 1987년 - 1984년 - 1984 	AL LUMP SUM BID: 10,773,923.57
TOTAL LUMP SUM BID (WRITTEN OUT) Ten M. Ilion Seven H	undred Seventy Three I housand
Nine Hundred Twenty Three Dollars and Fifty S	oeven Cents
NAME OF BIDDER (PRINTED) Rivery & Paving, Inc.	
NAME OF BIDDER (PRINTED) Riverview Paving, Inc. AUTHORIZED SIGNATURE July (1906)	
ACTIONIDED STORM	

	FOR SUSSEX COUNTY M ** Use Minimum Qu	IT PRICING UNICIPAL antity for Un	ITIES A	ND AGENC Extension	IES	
Item No.	Description Description	Contract Quantity	Unit	Unit Price	Total Amount	CONTR CODE(S)
M1	MILLING, 2" AVG. DEPTH	0-499	SY	#3.00	#3.00	A
M2	MILLING, 2" AVG. DEPTH	500-999	SY	#3.00	\$1,500.00	A
МЗ	MILLING, 2" AVG. DEPTH	1000- 1999	SY	#3,00	#3,000.00	A
M4	MILLING, 2" AVG. DEPTH	over 2000	SY	#3.00	\$6,000.00	A
M5	HOT MIX ASPHALT SURFACE COURSE, 9.5M64, 1 1/2" THICK (ROADWAY)	0-499	TON	#77.00	₩77.00	A
М6	HOT MIX ASPHALT SURFACE COURSE, 9.5M64, 1 1/2" THICK (ROADWAY)	500-999	TON	#77.00	\$58,500.00	A
M7	HOT MIX ASPHALT SURFACE COURSE, 9.5M64, 1 1/2" THICK (ROADWAY)	1000- 1999	TON	\$77.00	\$77,000.00	Α
M8	HOT MIX ASPHALT SURFACE COURSE, 9.5M64, 1 1/2" THICK (ROADWAY)	over 2000	TON	¥77.00	\$154,000.00	A
М9	HOT MIX ASPHALT SURFACE COURSE, 9.5M64, 2" THICK (ROADWAY)	0-499	TON	\$77.00	#77.00	A
M10	HOT MIX ASPHALT SURFACE COURSE, 9.5M64, 2" THICK (ROADWAY)	500-999	TON	#77.00	#38,500.00	A
M11	HOT MIX ASPHALT SURFACE COURSE, 9.5M64, 2" THICK (ROADWAY)	1000- 1999	TON	\$77.00	\$77,000.00	A .
M12	HOT MIX ASPHALT SURFACE COURSE, 9.5M64, 2" THICK (ROADWAY)	over 2000	TON	\$77.00	\$154,000.00	A
M13	HOT MIX ASPHALT INTERMEDIATE COURSE, 12.5M64, 1 1/2" THICK AND VARIABLE (ROADWAY)	0-499	TON	#77.00	1677.00	A
M14	HOT MIX ASPHALT INTERMEDIATE COURSE, 12.5M64, 1 1/2" THICK AND VARIABLE (ROADWAY)	500-999	TON	\$77.00	\$ 56,500.00	A
M15	HOT MIX ASPHALT INTERMEDIATE COURSE, 12.5M64, 1 1/2" THICK AND VARIABLE (ROADWAY)	1000- 1999	TON	\$77.00	\$77,000.00	A

Item No.	Description	Contract Quantity	Unit	Unit Price	Total Amount	CONTR CODE(S
M16	HOT MIX ASPHALT INTERMEDIATE COURSE, 12.5M64, 1 1/2" THICK AND VARIABLE (ROADWAY)	over 2000	TON	H75.00	\$150,000.00	A
M17	HOT MIX ASPHALT SURFACE COURSE, 9.5M64, 2" THICK (PARKING LOT)	0-499	TON	#77.00	#17.00	A
M18	HOT MIX ASPHALT SURFACE COURSE, 9.5M64, 2" THICK (PARKING LOT)	500-999	TON	\$77.00	H38,500.00	A
M19	HOT MIX ASPHALT SURFACE COURSE, 9.5M64, 2" THICK (PARKING LOT)	1000- 1999	TON	\$76.50	\$74,500.00	A
M20	HOT MIX ASPHALT SURFACE COURSE, 9.5M64, 2" THICK (PARKING LOT)	over 2000	TON	\$76.50	4,53,000.00	A
M21	RESET DRAINAGE STRUCTURES, MANHOLES, WATERVALVES	1	UNIT	\$875.00	#875.00	A
M22	TRAFFIC STRIPES, LONG LIFE EPOXY RESIN 4"	1000 MIN	LF	#o.45	#450.00	В
M23	MOBILIZATION - MILLING ONLY	1	LS	\$1,500.00	#1,500.00	A
M24	MOBILIZATION – PAVING ONLY	1	LS	d1,500.00	\$1,500.00	A
M25	MOBILIZATION – PAVING & MILLING	1 1	LS	#2,500.00	\$2,500.00	A
M26	MOBILIZATION – PAVING, MILLING, & STRIPING	1	LS	\$ 3.000.00	#3,000.00	A+B
M27	MOBILIZATION - STRIPING ONLY	1	LS	ы,200.00	\$1,200.00	B

RESPONDENT SIGNATURE (REQUIRED)

The undersigned respondent hereby affirms that he/she has visited the site (if necessary), examined all conditions affecting the work, including the contract documents and that he/she has received all notices, revisions or addenda to the specification or proposal documents.

The respondent <u>must</u> sign and date this document for their proposal to be considered for an award of contract. This along with all specifications, any drawings, general terms/conditions and any submitted document/literature will constitute a contract. The <u>final</u> contract will commence with the Resolution of award by the COUNTY OF SUSSEX.

Respectfully submitted,	
Circrice Paving, Inc. Company/Corporation	859 Willow Grove Street Address
Andrew M. DeKorte	Huckettstown, NJ 07840
Name of Respondent (typed or printed)	City and State Zip Code
1.10.00	(973)887-4800
Authorized Signature (Mandatory)	Telephone Number
Estimator	7/19/2021
Title of Person Signing	Date /
	andreweriverview paving.com
	Email (Person signing Contract)